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B A= 22l (inline style) j" f(z

m =3l Al (display style)

/ab f(x)dx
/a @) (1)

\[ \int_{a}*b f(x)dx \]

\begin{equation}
\int_{a}"b f(x)dx
\end{equation}
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$p_1$\2 A3t 19| 7tA0|2t 5ta, $p_2$\S A2t 22| 7+ZHO|2t G4t
AH[AEZE AFEE = U OLo] SHETF SmeEMAIY M, HzpE & QL

rr

xR
HofR @ Ch3at ZCt:

\begin{equation}

p_1 x_1+ p_2x_2 \leq m.

\end{equation}

(Mt 48t PR T



O| mf O] RHO| \textbf{O|AA}0[2+ OffH A
aHl F39 AFolct.

\[ p_1 x_1 +p_2 x_2 = m\]
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2 Cobb-Douglas £2%}2-7} 9

u(zy, z0) = iy

ALt 0]
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a” Y = a"a?

a™x aty

2244 Y
a“x+y=a"x a’y
a™{x+y}=




012 7HX| ZHgH

m £TM \overline, \underline

at+b=a+b
m £ 23S \underbrace, \overbrace

1441
——

n

m HE \vec,\overrightarrow, \overleftarrow

= (3,0,0)
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012 7HX| ZHgH

m £TM \overline, \underline

at+b=a+b
m £ 23S \underbrace, \overbrace

1441
——

n

m HE \vec,\overrightarrow, \overleftarrow

= (3,0,0)
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\[\begin{matrix}

A&B&C\\
B C d&ed& f\\
d e f 18283\
\end{matrix}\]
1 2 3
B C \[\begin{pmatrix}
A&B&C\\
d e daesf\\
123 18283\
\end{pmatrix}\]
B C
d e f \[\begin{bmatrix}
1 2 3 A&B&C\\
d&ed&f\\
1&2&3\\
\end{bmatrix}\]
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underset, overset

bcﬁffj:?e $\underset{under}{baseline}$
bagg;gne $\overset{over}{baseline}$
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Multiple Limits

E aijbjkcri

1<i<p
1<j<q
1<k<r

\sum_{\substack{1\leq i\leq p \\
1\leq j\leg g\\

1\leq k\leq r}

}

a_{ij}b_{jk}c_{ki}
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\[ A=\{ x\in \mathbb{R} | x"2=a, \text{where $a$ is positive}\}\]
A = {z € R|z® = a,where a is positive}
\[ A=\{ x\in \mathbb{R} \mid x"2=a, \text{where $a$ is positive}\}\]

A= {z € R|z* = a,where a is positive}
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e[t FolE A RS EotFs WiHE ftE= IY7|X|C.
\newtheorem{def}{Z 2|}

\newtheorem{add}[def]{E£ HAMH}
\newtheorem{thm}{Z 2|}[section]

\begin{def}
A
\end{def}
\begin{add}
B
\end{add}
\begin{thm}
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X (label and cross-references)

fLt.

ol

WEXS AIRSHE E 12 2 0|9 &

\label{2}® H}
\ref{2t2H}
\egref{2}H&H}
\pageref{2t&H}
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mathtools: amsmath?2|

mathtoolsE amsmathQ| SHXMO 2 amsmathO|A] HAEQUH HIE 1X|T, 0]
I§7|X|E O|&3IH 7|20 ~AXT0N sHZE5H | YSUE ZMESS 22H W2 5

ALt

\usepackage[ =M ]{mathtools}




CtE+-412Hd (split,aligned)

Hf(z) = p.v.% A X(i_y)ydy

:nml/ ) 4,
e—=>0 T |z—y|>e r—Yy

\begin{equation}

\begin{split}

Hf (x)&=\mathrm{p.v.\frac{1}{\pi}\int_{\mathbb{R}} \frac{f(y)}{x-y}dy\\
&=\1lim_{\varepsilon \rightarrow 0}\frac{1}{\pi}\int_{|x-y|>\varepsilon}
\frac{f(y)}{x-y}dy

\end{split}

\end{equation}
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CtE+-412Hd (split,aligned)

1
Hf(z) =pv.— Mdy
T R r—y (3)
= lim — Sw) dy
e—=0 T |z—y|>e r—y
\begin{equation}
\begin{aligned}

Hf(x)&=\mathrm{p.v.\frac{1}H{\pi}\int_{\mathbb{R}} \frac{f(y)}{x-y}dy\\
&=\1im_{\varepsilon \rightarrow 0}\frac{1}{\pi}\int_{}x-y}!>\varepsilon}
\frac{f(y) H{x-y}dy

\end{aligned}

\end{equation}
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Hf(z) = p% 1®) 4, (4)

RT—Y
f(y)dy

le—y|>e T~ Y

=lm
\begin{align}
Hf (x)&=\mathrm{p.v.}\frac{1}{\pi}\int_{\mathbb{R}} \frac{f(y)}{x-yIdy\\
&=\1lim_{\varepsilon \rightarrow 0}\frac{1}{\pi}\int_{|x-y!>\varepsilon}
\frac{f(y) H{x-y}dy
\end{align}

20159 11E 7Y
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\begin{align}

Hf (x)&=\mathrm{p.v.}\frac{1}{\piF\int_{\mathbb{R}} \frac{f(y)H{x-y}dy\\
&=\1im_{\varepsilon \rightarrow 0}\frac{1}{\pi}\int_{|x-y|>\varepsilon}
\frac{f(y)}{x-y}dy\nonumber

\end{align}
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Cobb-Douglas 2 & O] MRS(Marginal rate of substitution)\& JFHEEZZ 5}tA}.
$u(x_1,x_2)=x_1"c x_2"c$0|2} & mf,

\begin{align*}

\mathrm{MRS}&=-\frac{\partial u(x_1,x)2)/\partial x_1}

{\partial u (x_1,x_2) /\partial x_2}\\

&=-\frac{cx_1"{c-1} x_2™{d}Hdx_1"c x_2"{d-1}} \\

&=-\frac{cx_2}{dx_1}

\end{align*}

oF ZLC}.




align vs flalign

ail = bll aiz = b12 ail = bll aiz = b12
az1 = b1 a2 = baz + 22 az1 = b2y a22 = baz + c22
align &4 flalign &4

\begin{align*} \begin{flalign*}
a_{11}& =b_{11}& a_{11}& =b_{11}&
a_{12}3& =b_{12}\\ a_{12}& =b_{12}\\
a_{21}& =b_{21}& a_{21}& =b_{21}&
a_{22}& =b_{22}+c_{22} a_{22}& =b_{22}+c_{22}
\end{align*} \end{flalign*}
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alignat &tz

align2Z0|HAf of 0| FALT S ofuXAt [ Xt 2HF0|C.

r=y1—Y2+ys—yYs+ys—... by 7)
=y oy by (8)
=y(0)y’ by Axiom 1. 9)

\begin{alignat}{2}%¥ IS IAAH & =2 U=
x& = y_1-y_2+y_3-y_5+y_8-\dots
&\quad& \text{by }\\

= y'\circ y™* && \text{by H\\

= y(@) y' && \text {by Axiom 1.}
\end{alignat}
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mathtools: amsmath 2| SHEHI—C{FE X191 7|

e

(MZoisf 43k

\mathllap, \mathclap, \mathrlap,
\clap, \mathmbox, \mathmakebox,
\cramped, \crampedllap,
\crampedclap, \crampedrlap,
\smashoperator, \adjustlimits
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26 /55



mathtools: amsmath?2|

O15{7HX| 71SS0] 2Lt 0[0]] CHE XfA[E! Olr= 2015 KTUG Conference 0| Af

‘H4Zl- mathtools: beyond amsmath’ 2t mathtools2| AHAE 116+ HIEICL,

>texdoc mathtools
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amssymb, bbm

EE5 5N LIMES BHSIIAL I CHE HAo= BHGHE Al Stol|lA] 2H|CE
OE S0 fal= HAQ Tets thad| Q2 A7| Hik= Q2 20| £0t
SIEE Alste BE S0|M= A9 EM8t4 (characterstic function)

1 ifzeA
0 ifz ¢ A

oF 20| A= FR7F AT




amssymb, bbm

\usepackage{amssymb}

04710l HEGM 122 A blackboard bold(1) & A1 ACHH
\usepackage{bbm}

2 preamble0j| X O™ =L},

$\mathbbm{1}$

ABCdefl2, ABCdef12

\mathbbmss{ABCdef12} \mathbbmtt{ABCdef12}

20159 11E 7Y



m MnSymbol

H wasysym
m mathabx

= mathdesign

\usepackage{mathtools}

\usepackage{amssymb} %% amsmath2 amssymb= mathspec O|Z&
\usepackage[MnSymbol]{mathspec} %% kotex O|&
\usepackage{kotex}

(MBThsi
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HaHA A [ AB|O|A SHX| 02}

feLP(R)(1<p< oo)0f LHSIGY

o 20| 9|

rP.!

=

HetS SIHE #HSto|2t Sict

$f\in L"p(\mathbb{R}) (1<p<\infty)$0f CHE}O{
\[ Hf(x)=\mathrm{p.v.}\int_{\mathbb{R}} \frac{f(y)}{\pi (x-y)}dy\]
QF Z'0o| oI5t HEE S E HEto|a}t StC}.
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HaHA A [ AB|O|A SHX| 02}

feLP(R)(1<p< oo)0f LHSIGY

Hf(z) = p.v./]R ﬂ_(‘i(g)y) dy

SIH{E BI5t0|2} BHC}.

of Z0] g9

r9.'.'

£k

[IJIO

$f\in L"p(\mathbb{R}) (1<p<\infty)$0i{ C{35}0d
\[ Hf(x)=\mathrm{p.v.}\int_{\mathbb{R}} \frac{f(y)}{\pi (x-y)}dy\]
t

o Z0| Yot H

rhon
mjo

mot

HE Bi3t0|2} SiC}.

—

T
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\newcommand{\Q}{\mathbb{Q}}

Let $\Q$ denote the field of rational numbers.

ol

If IATEXNEI

(=1
=

ol




environment= #5| Q=] OfL|LC}.

OB
Of

\begin{equation}

\end{equation}
0|2t M= T

\newcommand{\beq}{\begin{equation}}
\newcommand{\eeq}{\end{equation}}

\beq

\eeq

o 20| Atgot=s 7t A=H|, SSHYOIL BT E7|0| 45| =Hot

prai ==y
oo
ZIE0|H, 0CIMEE KC7EX|7h A QUK EAH LOtXIZ|7| EA| B2 47|,
7
[

= =
environmentZ 24517 | HELCHT HHNE FtE= A2 S| LA

(st 3t 2015 118 7¢
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lllustrator and IATEX

LHAEYO0[HE O|ZotUAt & [ TEX A4S OIS0t At & [ S8Hg =X 0

=2
tu
>
o
o
s
0=
ol
n

| » THE » SYSTEM (C) » Progiam Files » Common Files » Adobe » Forts » |4 | Fonss z B3

F4v  mossmGERv  BRUMv B smumz A

w

o =- 0 @
b caps - o ’ 27|
i Color

)i Reqrd
L) Adoberntoo st
) sbgaramend
#) liberine
&) opentypetexmf-local
(7 @ TL2013-opentype
8 TL2013-tuetype
#) truetype-texmi-loca

Js Cssseniceanage
3 S5 senvceNianager
Js CssSenicetanager
i DevceCantl
s dynamicink
J Exersion Manager 53
J Exarsion Manager C555 E
) fons
i Reqra
)y FontRecommended
fip——
i ey
I Hesclg
J L HelpSearch
Js Hyphenston |
i nstates
i Keytes
i Unguiscs

L pc
i PORL

. Plugns

i prntspt

1. scripting Dictionares €SS

Ui scripting Dictionaries CS5.5

] S
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Commutative Diagram

[

f

=
T

_|oII

3, 7|5tet MEAH =S o+ 8l 7150] Commutative Diagram @ 240|Ct.
=

15t= 7| X|= tikz-cdIf7|X|Ct. dHAE= texdoc tikz-cd

Figure: Galois correspondence of K /Q and G

(MBThsi
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>texdoc pgfplots
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TeX 132 12|7]|2] §41, Geogebra

m TEXQ| TikZ If7|X|2t HF0| & Z|0QUCt. ABH-O0| 25 NTHZE2 TKZE

0|83t 18 J2|7|E 2AHotKl= XL gAl & + U

(MZoisf 43k
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Ishort-kr2 Ct $12 BoE= S0 I RS Mot 9J0{ EIC

m 224 82 (2015) YEDZ MM ALRKIE 9|5t LaTeX

m Dokenzy (2014) R5=E 2[5t LaTeX
http://wiki.ktug.org/wiki/wiki.php/KTUGDocSubdex

[ Xl (2015) mathtools: amsmath Q| 2}&Tt
m 0|FZ (2015) thmtools: =8 Fe|&td &&H CH=7|

"2
7|

fol 09 -|>| -I>

2 (2010) TeX AFBOIM Fo/g M 75, A4 2H4, 521 0|2 2X|, S
S 2K
m 271 (2006) £=219| 7t O|M|Z™ The TeXbook X|18%} Fine Points of Mathematics
Typing 5 Y
texdoc

m mathmode

m tikz-cd
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£A10] L ZI0{M Z2HH7| HEoIR

fujo
ris

amsmathO|Lt mathtoolsE £2 5 align,alignnat,flaligny} Z2 &H4
EERIEE

A0l = preamble0i| CH2S QI2BICY.

\allowdisplaybreaks




wE|mof0| 72

ol

TEXQ| 7|2Z800| 7I7t2 A2 2 HEy £ MK} & I 20| O A| QHLQ= HO|C,

\usepackage[ =M ]{esvect}

option a b ¢ d e f
fleche - - - > - -

VooR
v B




g US1 Hoe

(inline) O =&] HO{3=7| (display) X

IS

W2 fpalf(2)
= 7o
= AL

2 WS et

feL'(RY) 0|2t 7

$f\in {L*1(\mathbb{R}*d)}$0|2}t=
$\displaystyle\int_{\mathbb{R}*d} |f(x)!dx <\infty$

fe L'(R)0l2k= % 8/ |f(2)]|de < co Y [HE LB},

iy
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QtSk= Al ZMOIX|2t Tt Z

\lineskiplimit=2pt \lineskip=5pt
\everymath{\displaystyle}

22 LHES preamblef] 'E=LCt.

20159 11E 7Y
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HE2o| of2HAXE H Xt 2IXIE 0l =12 20

\int\limits_a"b f(x)dx
2ot 20| MK}t SHCHH \usepackage[intlimits]{mathtoos}2}

HJIHJ
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ks
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TAMSE ZOXZ AUST HOL

%code by Heiko Oberdiek
\makeatletter

%Roman counter
\newcounter{roem}

\renewcommand{\theroem}{\roman{roem}}

% save the original counter
\newcommand{\c@org@eq}{}
\let\c@org@eq\c@equation
\newcommand{\org@theeq}{}
\let\org@theeq\theequation

%\setroem sets roman counting
\newcommand{\setroem}{

20159 11E 7Y 49 /55



F(x) = —cosx (i)
G(z) =Inz (i)
f'(z) =sinz (12)
g'(z) = % (13)
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9| 7| Of2H7} L5 HOIM A 2471012

\everydisplay\expandafter{\the\everydisplay\def
\baselinestretch{1.2}\selectfont}

9 3 I/ 2 3\l
1 9 -1 2/
Before After
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1 —2
\usepackage{mathtools}
\begin{pmatrix*}[r]
-2 & 3\\
1&-2
\end{pmatrix*}
—2 3
1 -2
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\DeclareMathOperator{\sgn}{sgn}

\DeclareMathOperator*{\esup}{ess.sup}

() 1 if o is even
sgn o) =
—1 ifois odd

ess. sup, . |f(z)]

ess. sup| f ()]

zeX

(Hztietm 20154 11872



\DeclarePairedDelimiter\abs{\1lvert}{\rvert}
\abs{\frac{2}{3}}\qquad \abs*{\frac{2}{3}} \gquad

\abs[\Biggl{\frac{2}{3}}

2022
3 |13 |3

19| #AE XtM|SH LIS texdoc mathtools &1l
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Munkres 2| Topology 7|SX 7 & HHUA 2 ML?

A toplogy, denoted by T

TEXQ 2= I7|X|7t F== OFLICE. mtpro2 17| XIS AfOF BTt 11 Q0= |2 54
I{7|X17t & QUL
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